___Pp__ E

RoHS] sus] IMAO
_ M S M
[a)]
|
@ Bleifio
Wz, a) TAATT
Ty =
' ' 7y Ls | L ‘ A
t O w ‘ Lo
i L
Bt %S
S45C
[PID-SUS|| SUS303
CES)

B = D | Ln M Lo | L M ls | W |Di| A|B zf
PID0606 6 | 55|M6X1 |12 | 29.5|M 5X0.8 7110 | 12 5 1175| 10
PID0807 8 | 65 335 6 |215| 25
PID1006 10 6 | MI0OX15(12 | 36 |M6X1 9| 13| 16 9 24 30
PID1012 115 415 295| 34
PID1008 8 38 8 |26 45
PID1008L 10 M10X15 (12 |45 |M8X125| 10 | 17 | 20 | 15 |33 55
PID1016 15.5 49.5 12 | 375
PID1210 12 | 95 M6 X2 22562 |M10X15 | 15 | 19 | 23 | 15 |39.5| 100
PID1511-M16 130
PID1511 105 67 445 150
PID1522 15 215 | M20X2.5 225 78 Mi2xi75| 19 | 221 25 | 15 55.5| 160
PID1529 29.5 86 63.5| 170
PID2014 13.5 73 15 |50.5| 240
PID2028 20 | 275 |M20X25(225| 94 | Mi6X2 22 | 27 | 32 2 715| 310
PID2050 50.5 117 94.5| 370

PID-SUS| (A~ $54MHI)

B = D | Ln M Lo | L M Ls | W |Di| A|B %f
PID1006-SUS 10 6 | MIOX15|12 |36 |M6x1 9|13 | 16 9 |24 30
PID1008-M16-SUS 8 V16X 2 485 M 8x125| 10 | 17 | 20 8 |26 70
PID1511-SUS 15 TIM20X25] M12x175| 19 | 22 | 25 | 15 ’ 150
PID1522-M16-SUS 215 | M16X2 78 55.5

e

[PID]1008-M16-SUS, [PID]1511-M16-SUS,

[PID]1522-M16-SUST] LA F 72 [AST80-SUS | < 45 4R35

BT KER L.

R

IR RFAEREEA.



